MATH 160 - QUIZ #2

Name: KEL/

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good

luck!
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1. Given f(x)—m_—z).

(I point) a. Find the x-intercepts of /.
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(I point) b. Find the y-intercept of /.
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(2 points) c. Determine the horizontal
asymptote.

ﬂl/g/ﬂ( At = (
/.
p(f’jlll ;/é Vo it = J
HA: y=0
(2 points) d. Determine the vertical
asymptote(s).
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(1 point) e. Determine if the graph of the
function will intersect the horizontal
asymptote.
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(3 points) f. Use the x-intercept(s) and the
vertical asymptote(s) to determine when the
graph will be above the x-axis or below the
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(3 points) g. Using the information
obtained from parts a-f, sketch the graph of
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(3 points) 2. Determine the oblique asymptote of the following function.
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